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Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :
There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Answers to Questions no. 1 to 10 should be in 150 words, whereas answers to
Questions no. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer (QCA) Booklet must be
clearly struck off.
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Q1.

Q3.

Q4.

Q5.

Q6.

“Urd ° Iyf FE h TaEliE el Sydfy weteE = gR waeRey
Il H1 diaare ® |7 gara arg ot gema @ 3@ s f faEe
SHifore | (150 wrsat | I Eifm)

“The most significant achievement of modern law in India is the
constitutionalization of environmental problems by the Supreme Court.”

Discuss this statement with the help of relevant case laws.
(Answer in 150 words)

“Ura & TFgUl & 8 Fam wE R famwo w6 w1 sAfter wa w9 @ |t ywd
ATERT 1 Iqered B, forg 3 sferspm svedim 7 & 1 feomoft Hifor |
(150 wrea ¥ 3 o)

“Right of movement and residence throughout the territory of India are freely
available to the Indian citizens, but these rights are not absolute.” Comment.
(Answer in 150 words)

el T H, WRA H Wik o fobegiontor ¥ Sil-ER W weA-ufgy i ey dim
e uitafda femar & 2 (150 wedl #§ 3e &ifsm)

To what extent, in your opinion, has the decentralisation of powér in India
changed the governance landscape at the grassroots ? (Answer in 150 words)

TSI | o | o &9 § WA o 39-Uggfa 1 gt it fadmmr Hifsa |

(150 wregf | IR i)
Discuss the role of the Vice-President of India as the Chairman of the
Rajya Sabha. (Answer in 150 words)

T s ot et & wifafus fFem @ adufis e § svaw #i = § @@
&Y Heh! e 1 faaemn hifs | (150 wegi 8 3 i)
Discuss the role of the National Commission for Backward Classes in the wake

of its transformation from a statutory body to a constitutional body.
(Answer in 150 words)

Tfa-wifts TS 1 GHASTRAT & AT B IIed A * ow geepr o S 89 & au
e qH=E h1 Al @ | e Aif | (150 wedt # s )

The Gati-Shakti Yojana needs meticulous coordination between the
government and the private sector to achieve the goal of connectivity. Discuss.
(Answer in 150 words)
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Q7.

Qs.

Q9.

Q10.

Ql11.

fesqmmar & e § Tl gefeRiEl SR Amiienl i e wagAsftadr & o
oo afoeer arfufem, 2016 Faa fafus ey s@at ® oA 8 | fewofi
#$ifsw | (150 req) § I i)

The Rights of Persons with Disabilities Act, 2016 remains only a legal

document without intense sensitisation of government functionaries and
citizens regarding disability. Comment. (Answer in 150 words)

TeHEl STH AT AISHT o AT W TR Ted ety § gUR U Wiaviia HeH ¢,

foprq st aroelt il oft € | feoaoft i | (150 wset 3w Aifv)

Reforming the government delivery system through the Direct Benefit

Transfer Scheme is a progressive step, but it has its limitations too. Comment.
(Answer in 150 words)

“qrea ofieiet 1 sEEl g i R ) qdad] S9A o e | Hficen % adaH He |
e <ht faes it fee=amr Sifsre | (150 wsgi § I i)

‘India is an age-old friend of Sri Lanka.” Discuss India’s role in the recent crisis
in Sri Lanka in the light of the preceding statement. (Answer in 150 words)

a9 foem # w1 fawe® (BIMSTEC) @1 (SAARC) i 0@ Th HAMTGL &6
2 29 241 % ot @ GEHANd SR SEHFA 8 ? 39 AT WA % SHIY IH 9
wrela fagw Aifd % sevar & e gu & 2 (150 egt # I Eif)
Do you think that BIMSTEC is a parallel organisation like the SAARC ? What
are the similarities and dissimilarities between the two ? How are Indian
foreign policy objectives realized by forming this new organisation ?

(Answer in 150 words)

& gfafafuca sifufam, 1951 % swmia Tug 1o Us9 faaTRen % Teell & g9
¥ I faargl & faolg 6 gfen =1 faaea ifse | fFa smamd w ot faffaa
Hifd gt & Fatem # 3y 9ifta G o g 2 2 39 ol & faeg difsa e
%l HI9-H1 ITAR IuAey 8 ? 912 fafedi 1 gy difSw | (250 wisgi § 3w difSw)

Discuss the procedures to decide the disputes arising out of the election of a

10

10

10

10

Member of the Parliament or State Legislature under The Representation of

the People Act, 1951. What are the grounds on which the election of any
returned candidate may be declared void ? What remedy is available to the
aggrieved party against the decision ? Refer to the case laws.

+ (Answer in 250 words)
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Q12.

Q13.

Q14.

Q15.

Q16.

Q17.

T9Ter g foureht vt & swmn <t sravaes vl @ fodem fife | e &
quE W o TSI gr Sreareil % qA:weyd i duar it fadn i |

(250 Srsgi T IR FfS0)
Discuss the essential conditions for exercise of the legislative powers by the

Governor. Discuss the legality of re-promulgation of ordinances by the
Governor without placing them before the Legislature. (Answer in 250 words)

“ara # TP UeRfae ga FeEe % Uy A €, Sefe & @ TsuewEd $
gy § |” feogeft Sifsw | (250 wregi § 3o Aife)

“While the national political parties in India favour centralisation, the regional
parties are in favour of State autonomy.” Comment. (Answer in 250 words)

S S St NG W ST O e (S USP U o v S
(250 w12 # 3o dfor)

Critically examine the procedures through which the Presidents of India and
France are elected. (Answer in 250 words)

aTee SRR % IgHa % ITTelih #, WRA % Fatew s Y qfie @ fEe
HIT | (250 weg] 7 I i)

Discuss the role of the Election Commission of India in the light of the
evolution of the Model Code of Conduct. (Answer in 250 words)

FHeATHRT ASHIA o s WRa &l GuT & dfera ani i 7hel &1 Ja1 % fag
Herehifa 3T SIS o $I Tae 1 FTavehal 8 | == hifoy |
(250 wregi ® IR ifSo)

Besides the welfare schemes, India needs deft management of inflation and
unemployment to serve the poor and the underprivileged sections of the
society. Discuss. (Answer in 250 words)

&1 9 39 WA Y FeHd @ % fomh@ ¥ g firestil wosedt fifan s wfEn
# wmgifes wrfieRt % Hew 1 9erdl R 2 319 I & Iifue = fag i |

(250 wregf & I Eifsre)
Do you agree with the view that increasing dependence on donor agencies for

development reduces the importance of community participation in the
development process ? Justify your answer. (Answer in 250 words)
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Q18. THeft foien & #gww & 9R # ARG 39w fopu fomm, s Y foven & Som-emenfia

Q19.

Q20.

ygfd & T # f.yes ot stfadd sma foen o sifter sfufem, 2009 st

2 | forwewo hifore | (250 wreat # 3 i)

The Right of Children to Free and Compulsory Education Act, 2009 remains

inadequate in promoting incentive-based system for children’s education

without generating awareness about the importance of schooling. Analyse.
(Answer in 250 words)

12U2 (97, $90Ed, 6w e omHid o Wt Us9 omfeh) wqgd dfvwas
Torifa o Wi 6 feafa @t fre yer wwiafa s 2 (250 wedl # I Af)

How will I12U2 (India, Israel, UAE and USA) grouping transform India’s
position in global politics ? (Answer in 250 words)

oo o AN HI FEE@ g || YueHid & e #, faftm ol wai d
Serary gitada i fown # wra i sgadt Hifa @ dférea auia Hifs |

' (250 g # I i)
‘Clean energy is the order of the day.” Describe briefly India’s changing policy

towards climate change in various international fora in the context of
geopolitics. (Answer in 250 words)
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